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#&a (B-1) ” (0.069+0.051) x1.3 " 0.2
&4 (B-2) " (0.069+0.015) x4.8 " 0.4
IEIR (0 400) " 0.435%13.1 " 5.7
HENKEE %4 0.146%X13.0 7 1.9
oKt " 0.80x0.90x0.98-0.40x0.50%0. 83 " 0.5
1099 - MgEEE " 0.113%7.7 7 0.9
ta-0E ($400) /" 0.048%13.1 " 0.6
il m 11.6
PhEEMHEIE
H—RKRL— Gr-C-4E m 18.
i E L TAZ 7 E 142.1x0.10 m 4,2
150.7%0. 05 N 7.5
34.5%0.03 ” 1.0
m 12.7
\HHav 7Y —b m 11.6
m 11.6
H—Rb—I Gr-C-4E m 18.
TRIG T FIE W L=1. 9km 16.0(kg/m) x18.0(m)/1000 t 0.
AT Ty T #,<F AE—H1|16.0(kg/m) x18.0(m)/1000 t 0.




